30. Choose the most appropriate option from

the following :

(A) Debit card and credit card can be used

in an electronic payment system

(B) OMR stands foronly magnetic reader

(C) Skype is an examplc of system

software
rinter is

(D) The output quality of the P

measured in Hz.

31. Times New Roman isa:
(A) Font
(B) Page Layoul
(C) Printing
(D) None of the above

32. In MS-Excel 2010, the top left most cell
has the address :
(A) Al
(B) www.vmou.ac.in

(C) AZ

D) 1A

Set-C (February-2023) (13)

30. ﬁ'ﬁlﬁfﬂﬂﬂﬂmmm_ﬁﬁq:
(A) 392 FHTE 4 fez rd o g
T SR s e # faa
1 Hehell B
(B) SNUHIAR Haet ey yigw & o
4
7 = fen dtedm Eai,..-,.'{'“;
e B #
(D) ﬁaﬁwwﬁwﬁ
TIT S g

3. EHIITFAE ¢ :
AA) W=
(B) U9 T35

) fufen
(D) Iudad 4 qHE T

mﬂ-qa@azmoﬁ,mﬁmmﬁira
%1 qdl T © :
(A) Al

(B) www.vmou.ac.in

(C) AZ

32.

(D) 1A

K-1 Contd.
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S the two types of output devices ?

) Windows XP and Linux

®) Floppy and CD

) Keyboard and Mouse

) Monitor and Printer

26, Whatis YouTube ?
(A) Itisavideo sharing and video search
website which allow users 1o upload

view and share videos.
(B) Itisan eleclronic mail, by which user

can exchange digital messages from

one or more recipients.
(C) Itis an applicationthat specifies in

providing video chats and voice calls,

(D) Ttis uSed for buying and selling goods

and  services by Electronic

Commerce

©) 7w W e & @ difeay
ﬁﬁnmﬁammﬁﬁﬁq
T €

(D) o I TRl wi gr
ESEE e Lk E e
% fom foan v 1 |

K-1 Contd.
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-~ strong password should contain ;.
10.

(A)
B A word that is easy to remember,

Both uppercase and lowercase letters

such as the name ot;g,pet

© Al least 8 characters and a

combination of letters, numbers and

characters

(D) Your Complete name

e oo is word processor software with

basic formatting options, and it is included

in all versions of the OS since Windo\{%r

S
N
N

Q-

(C) QuickHeal q\\‘\

95 onwards.
(A) WordPad
(B) Microsoft Paint

(D) Oracle

12. When a computer is booting, BIOS is
loaded to the memory by :
(A) RAM
(B) ROM
(C) CD-ROM

o9

(D) TCP

Set-C ¢ February - 2023 )

(6)

10, T HE, TEAS B =6 ;
(A) T AR TATHY 3787 B
(B) T VI o AT T 3 3
qreTq SHeR &1 AW

(C) 94 FH 8 T AN A, v
R Uil &1 FIeT

(D) S T A

oo T TEIY [Tl % Hy -

Ot

nnnnnnnnn

Figeaay & At 7% faveia o5
a1 A g $ gt TR H e §
(A) T

(B) WEEMIRE U2

(C) Teaargret

(D) e

59 Het 92§ @l oidl ¢, df BIOS H
HHIT 4 fareh g dirs frar s & 2
(A) ®|

(B) UM

(C) HiE-im

(D) ZrHidt

12.

K-1 Contd. .
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11.

rong password should contain:

(A] Bo

@) A word that is easy to remember,

such as the name ot;g,pet

) At least 8 characters and a

combination of letters, numbers and

characters

(D) Your Complete name

e is word processor software with

basic formatting options, and it is included

in all versions of the OS since Windows

05 onwards.
(A) WordPad _
(B) Microsoft Paint
(C) QuickHeal
(D) Oracle

12. When a computer is booting, BIOS is

loaded to the memory by :
RAM

ROM

CD-ROM

(A)
(B)
(©)

(D) TCP

Set-C ¢ February - 2023 )

th uppercase and lowercase letters

(6)

10.

12.

(A) wéﬂsfr{aﬂmam#

(B) T Y= IS8 91 1@ 37y 3
rerq a1 AW

(€) F9 948 7€ 3N e, v

S Tl 1 FEeA
(D) ARl U
.............. T T [Tl & g <
TR Gifeaat & 3R 9% faveie 95
e | TG & g GER H Wia g
(A) dSUS
(B) WiZmMIR U2
(C) foawea
(D) R
wel T g2 & T@l Bl §, af BIOS Hl
I | fhgeh gro oire fHar simar & 2
(A) ™
(B) U9
(C) dHrEt-Um
(D) It

K-1

Contd. .
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e the two types of output devices ?

# windows XP and Linux

@ Floppy and CD

© Keyboard and Mouse

D) Monitor and Printer

2% What is YouTube ?
(A) Itisa video sharing and videg search

website which allow users 1o upload

view and share videos.

(B) Itisan electronic mail, by which user

h T T TR e & e -

can exchange digital messages ERRILET
U A1 e yregfas
one or more recipients, ‘  fefiem sz T SR-To 7

(C) Itis an application

©) & W dfemvm & @ difea

providing vid and voice calls w
. SR A et v 3 e
(D) ltisuscdforbuyingandscllinggoods e

_ D I TR I
and  servyices by Electronic o A -
gt ot el e sy

Commerce % for fran s & |

EIGIEY

K-1 Contd.
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kL) mwMMmekm
mmt.limtamhtﬁmmw;
aﬁgamﬁmﬁrwﬁmwmm‘:
78 o w7 # fon Fretafem g4,
FarE w1 swam fEm T k)
(A) Ffade d@ifere 49 73y
(B) ey Ten uasE w4
(€) = 1T
(D) Hifers 22 &e 3159

13, A new Laptop has heen produced that

weighs less, 1s smaller and uses less power

than previous Laptop mndcls:

Which of the following technologics has
been used to accomplish this ?
(A) Universal Serial Bus Mouse

(B) Faster Random Access Memory

(C) BluRay Drive

(D) Solid State Hard Dnive

31 wawE a%, 2010 # W w @ ok

34, You can switch the page between portrait M.
and landscape layout in MS Word. 2010 Sugriy AT @ ard [ w1 EE
i using : fet =1 WA Hh
i (A) Orientation shorteut (A) AfrazerA vifd®e
l i (B) Margin shoricul (B) gifsE vz
' (C) Size shortcut (C) AR N2
(D) ®lem vfiFz

(D) Columns shortcut

35, favers 10 § 32792 TFEIL Bl oo

Internet Explorer has been replaced by
&4 39 g0 9 fad mn E

web browser in Windows 10.

--------------

(A) Windows Store (A) R T
(B) Microsoft Edge (B) P
(C) Google C hrome (©) -
(D) Microsoft Chrome (D) WIEFRIRMGZ HIN
1
(M) K-1 Contd

Get-C (February-2023)
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LTy

- 16. The -printed output from a computer is

often called :
(A) Copy
" (B) Soft Copy
(C) Hard Copy

(D) Paper

17. = Sum (B! :BI10)is an example of a:
(A) Function
(B) Cell address
(C) None of these
(D) Formula
18. A multi-functional printer contains :
(A) Printer

(B) Scanner

(C) Copier
(D) All of the above

19. What is the full form of ISP ?
(A) Internet Speed Provider
(B) Internet Service Protocol

(C) Internet Service Provider

[ 16, TR T T 9 sy
§:
(A) HIGT

(B) WI% il

(C) @ HIGt

(D) 9=

17. =Sum (BI : B10) 1 T% Seraaw ¢ ,
(A) HHRTH
(B) ¥eiTgH
(C) 379 | I3 &l
(D) I

18. UF Hedl-%avMHe 9 & wnfger &
(A) fiex
(B) Y

(D) None of these | 1

Set-C (February - 2023 )

S

(C) =hifqyT
AD) SuHe gt

Contd.
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30. Choose the most appropriate option from
the following : (A) 392 HIE M Afez wrd o v
(A) Debit card and credit card can be used R ko
RUGETES
in an electronic payment system B) AR aommibiia

(B) OMR stands for only magnetic reader 1
P le of system : iy
(C) Skype is an exampie /(C) ey foem gledm &1
software e B 3
(D) The output quality of the Printer " (D) fizw %t sseqe o A i
9T S §

measured in Hz.

3. TWHYTFAEE :

31. Times New Roman isa:
(A) Font AA) HIE
(B) Page Layoul (B) U W3S
(C) Printing ) fifen
(D) Idaa d 4 F1 T

(D) None of the above

32. In MS-Excel 2010, the top left most cell 32. W-Qﬁa 20104, 'Haﬂ FW Al |l
' has the address : =1 9l ol §
(A) Al (A) Al-
(B) www.vmou.ac.in

(B) www.vmou.ac.in

€ AZ (C) AZ
Set-C ( February-2023) (13) K-1 Contd.
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27. Suppose there are six sectors like

agricullure. construction, manufacturing,
mining etc., which contributes to the GDP

of India, then which type of chart is most

suitable to show the contribution of each

sector 10 the whole GDP of India in MS

Excel.

() Linc

(B) Ared

(C) XY Scatter

(D) Pie

28. The file extension of MS Word Document

in Office 2007 is :
(A) .doc

(B) .docx

(C) .axt

(D) .pdf

29. The resolution of the screen is indicated by :

(A) Dots
(B) Colors
(C) Pixels Per Inch

(D) Dot Per Inchs

27. WA =it f& Ff, ﬁqfqﬁ.qi
aﬁﬁﬂﬁ%ﬁﬁw%mq‘}j
# e Fd &, 9RA & T g
IR ® TAF & ARH F g
# guift & faq faa vn &1 5
Iy & 7
(A) o=

AB) Tf@
(C) xwa‘”:zg

N L

28. SRR 2007 3 THTE 92 SHITES
TFEIYA © ¢

(A) .doc
(B) .docx.
(C) axt
(D) .pdf

29, T F1 fisilegyr fergd g S

Conl
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Fradt
from th 22. .
option r// F__
~ackBall. NN SFEA )
Microphone, > m_g' EEg “ﬁf:I,
Ha:::l 2 3“3332 rga]su\ Q‘} EFSF |§1:a:,'
Disk Drive . é ;Iga
Monilor, 3 Félt?i feard / R ﬁall'” @, |
Printer, ’
Headphone ZSHMA
(A 1-P, 2-Q, 3-R (A) | PT 2_—Qq 3-R
3) -& 2-R, 3-P B) 1-Q 2-R,_3 P
). 1-Q. 2-P, 3-R (C) 1-Q, 2-P, 3-R
(D) I-P. 2-R,3-Q ' _(D) I-P 2-R, 3-Q
23, Select the best way to protect your hard 23, T e gisd 221 B Y&l # fo gad
drive data : a7e et g -
(A) Scanning (A) T
(B) Backup /{B) a—EHaTq
(€) Defragmentation (Cj fegriay™
(D) Delete junk (D) FF gerd
24. The total number of function keys on the 24, FEIE T HHIA © P L
keyboard is : 3. =
A
o (A) 10
(B) 12
AB) 12
(C) 14
) 14
D) 9
(D) 9
Set- _
et-C ( February - 2023 ) (10)
K-1 Contd.
S {
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redress service

is the grievance

& T L L I.R
: s govemment 0
ided by 20

[“'[]\ I

ajasthan.
(A) RajmlhanSumpark

(B) an:ulhan\’ultc

(C) RSRTC

(D) RPSC

9, Which of the following is NOT the valid
purpose of SSO (Single Sign On) ?
(A) One Person, One Identity = With all

mapped data sets and documents for

every state resident

(B) Noneed of documents and alfidavits
for Servige I)cli\'cn_.'

(C) Single window nterface 1 access

Varioy, Digital Service of State

(D)

(5)

7. = Q S dage srqfen e

1 J]E & ?
(A) HrEr3
(B) M
€ TgRS
(D) Higw

TS H{&hR g1 g T
fFamm 3T % .

AA) TSRYH T
(B) TSy aree

(C) .UH. .35
(D) 3I.9T.UH.H.

T A FE v (R o)

1 9 39 T § 2

(A) UF SiH, F En-10E ™
ﬁar%ﬁ%ﬁ-rqwﬁﬁqfﬂwq%a
2 3 e @ @y

(B)  He fereon o fie gl afv s

(©) T3 grmn & fami = fafA
fefem aneii o w1 @ o
e fave szwm

(D) ﬁfwmmﬂﬁwmﬁ
# forg

K"l COl'ltd-
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e
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15 S-S
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. ele Play Stofe ?
at it Gieog .
1. wh

s an l-""."mlimml onhine software

t-'\, "
. developed by Google for

U

Jmhuid devices.

) s an onlinc store to sale hardware

(B
dJevice for android device.

) M is a chat program, where people
used to chat with each other.

D) is phy.sicnl store where you can buy

any thing.

3, To measure the speed of the processor,

............

(A) Velocity

(B) Unil

(C) Clock speed

(D) Memory
3. In order to delete a sentence from a
document, you would use :
(A) highlight and copy
(B) cutand paste

(C) copy and paste

(D) Wﬂw

(D) highlight and delete 4o (,),] =
L
’ GoO
Set-C  ( February - 2023) (3

(B)

©) ° %= 42 dom &, vim

A%z wa g
Wi s mie wEa g L

WEHT 1 fa wrd @ ferg o
wam fan s & "
(A) a=fea

AB) e

(C) Tl ¥irE

.

(D) HHA

wmﬁr{ﬁmﬁm'!im
(A) eEese S E
(B) e 3R TR

(C) il i ¥ I

(l-""""j

K-1

Scanned with CamScanner



4. Which of the following will not advance
the slides in a slide show view 2
(A) Esc key
(B) Enter key

(C) Spacebar

(D) Mouse button

5. A Website is collection of :
(A)  Algorithms
(B)  Chans

(C) Programs

(4,
Scanned with CamScanner




